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Chapter 5
Ex. 5.3



Q1.64a° + 125b3 +240a%b + 300ab?
SOLUTION :

= (4a) + (5b)’ +3(4a)* (5b) + 3 (4a) (5b)’

[+ a® + b3 +3a’b + 3ab? = (a+b)’]

= (4a + 5b)’

= (4a+ 5b)(4a+ 5b)(4a+ 5b)

= 642’ + 125b% 4+ 240a’b + 300ab? = (4a + 5b)(4a+ 5b) (4a + 5b)

Q2.125x% —27y3 — 225x%y + 135xy?
SOLUTION :

=(5x)° = (3y)’ = 3(5x)" (3y) + 3 (5x) (3y)’ [ a3 —b® —3a%b + 3ab? = (a—b)’]

=(5x = 3y)’

=(5x — 3y) (5x — 3y) (5x — 3y)
5 125%x3 = 27y3 — 225x%y + 135xy? = (5x — 3y) (5x = 3y) (5% — 3y)

Q3. %X3+1+%X2+2X

SOLUTION :

=(§X3)3 +13 43 x (%x)2 X 143(1)" %X (3x)

=(%X+ 1)3 [+ x34b° + 3x%b + 3xb% = (x + b)’]
=(3x+ D) (Ex+ 1) (3x+1)

P T+ A 2x=(3x D) (Ex+H D (Ex+1)

Q4.8x> + 27y’ +36x%y + 54xy?
SOLUTION

=(2x)° + (3y)’ +3 x (2x)° x 3y +3 x (2x) 3y)’
= (2x +3y)’ [
a®+ b3+ 3a%b +3ab2=(a+b)?



=(2x + 3y) (2x + 3y) (2x + 3y)
= 8% +27y3 +36x%y + 54xy? = (2x + 3y) (2x + 3y) (2x + 3y)

Q5.a3 —3a’b+3ab>—b>+8

SOLUTION
=(a—b) +2° [+ a3 — b —3a’b+3ab? = (a—b)’]
s(a—b+2)((a—b)’—(a—b)2+2?) v [a> + b’ = (a+b)(a® —ab +b?)]

=(a—b+2)(a’> +b*>—2ab—2(a—b)+4)
=(a—b+2)(a> +b*>—2ab—2a+2b+4)
~a’—3a’b+3ab>—b*+8=(a—b+2)(a>+b>—2ab—2a+2b+4)

Q6.x° + 8y’ +6x°y + 12xy?
SOLUTION :
=(x)° +(2y) +3 xx2 x 2y +3 xx x (2y)’

=(x +2y) [+ x3 +y3 + 3x294 3xy2 = (x Ky)']

=(X+2y)(x+2y)(x+2y)
2 X3+ 8y3 + 6x%y + 12xy? = (X +2y) (x +2y) (x+.2y)

Q7.8x> +y? + 12x%y + 6xy°
SOLUTION
=(2x)° +(y)’ +3 x (2x)° xy +3(2x) x y?

=(2x+y) [+ a® + b3 +3ab + 3ab® = (a+ b)’]

=(2x+y)(2x+y)(2x +y)
28 +yd +12x%y + 6xy2 = (2x +y) (2x +y) (2x +)

Q8.8a° +27b3 + 36a%b + 54ab?
SOLUTION

=(2a)’ +(3b)’ +3 x (2a)” x 3b+ 3 x 2a x (3b)*



= (2a+3b)’ [+ a® +b® + 3a2b + 3ab? = (a + b)’]

=(2a+ 3b)(2a+ 3b)(2a+ 3b)
- 8a% +27b% + 36a’b + 54ab’ =(2a + 3b) (2a + 3b) (2a + 3b)

Q9.8a°> —27b* —36a%b + 54ab?
SOLUTION :

= (2a)’ — (3b)’ — 3 x (2a)> x 3b + 3 x 2a x (3b)’
= (2a—3b)’ [+ a3 — b3 —3a2b+3ab? = (a—b)’]

-(2a—3b) (2a—3b) (22— 3b)
~ 8a3 —27b% — 36a%b + 54ab? =(2a—3b) (2a—3b) (2a—3b)

Q10.x> —12x(x —4) — 64

SOLUTION :

=x> — 12x% + 48x — 64

=x> =3 xx2x4+3 x4 xx—4°

= (x— 4y [ a3 — b3 —3a?b + 3ab? = (4=b)’|

=(x—4)(x—4)(x—4)
AX - 12X (x—4)— 64 =(x—4) (x—4)(x— 4)

Q11.ax> —3a?bx? + 3ab*x — b’
SOLUTION :

= (ax)’ — 3(ax)’ x b+ 3 (ax) x b? — b

- (ax—b)’ [+ a3 — b3 — 3a2b+ 3ab? = (a— b)’]
=(ax —b) (ax —b) (ax — b)

~a’x> — 3a’bx? + 3ab’x — b’ =(ax — b) (ax — b) (ax — b)



